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A I AA
HE: HRES
ol BEXE (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
311 X+ S0l A& & 39,200 514,900 A 475,700
01 Al -2 - FXNENLI XL S0l AHAE 29,200 66,400 A 37,200
OMEMY IS HMelEZHAY
730,000,000& *4.0% 29,200
03 SLEFXNLS0IAH4&E 10,000 448,500 A 438,500
QUEMY I ZSEMlEZLAML(HSZ)
500,000,000& *2.0% 10,000
601 XL S A& & 835,200 1,735,200 900,000
01 Al -2 - FXNENLI) L= 730,000 930,000 A 200,000
OMESMYIEEMABTZLEAY 730,000
03 SLERXLSE3atE 105,200 805,200 700,000
OEMAESHAY 5,200
QugMy I EEHMelELE(MEXS) 100,000
il bl bl 6,963,217 4,888,768 2,074,449
ol 5l B 6,963,217 4,888,768 2,074,449
([ N=Rs]] 6,963,217 4,888,768 2,074,449
801 GilHIHI 6,963,217 4,888,768 2,074,449
01 olldldl 6,963,217 4,888,768 2,074,449
Ououlgl bl 6,963,217
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